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void setup()
{
tm1637.set(val_shim);
#include "CyberLib.h" tm1637.1init();
pinMode(buzzerPin, OUTPUT);
#include "TM1637.h" D7_Out;
#define CLK 11  // nuH D7_Low;
#define DIO 12 // nuH D16 _Out;
TM1637 tm1637(CLK,DIO);
#define ON 1 if(B1_flag) D16 High;
#define OFF © else D10_Low;

#include <IRstD.h> Serial.begin(57600);
IRrecvstd irrecvstd(4); irrecvstd.enableIRInstd();
decode_resultsstd res_std;

#define MAXMILLIS 4294967295

unsigned long timme; void loop()

unsigned long timelapsed = 6;

int chas = @; if(irrecvstd.decodestd(&res_std))

int minuta = @; {

int secunda = @; if(res_std.valuestd == 1886442794) // Tpnbaenexne 4acos
1

LIHETTEETEEET B JLLIFEETTEFL LTI analogWrite(buzzerPin, 255);

uint8 t B1 flag = ReadEEPROM Byte(1); chas++;

uint8 t Bichas_vkl = ReadEEPROM Byte(2); if(chas > 23) chas = ©;

uint8 t Biminut_vkl = ReadEEPROM Byte(3); disp();

analogWrite(buzzerPin, 0);
uint8 t val shim = ReadEEPROM_Byte(4); }

uint8_t flag disp = @; if(res_std.valuestd == 1886430554) // Ybaenenue uacos
uint8 t flag zel led = 9; {
analogWrite(buzzerPin, 255);
int buzzerPin = 5; chas--;
if(chas < 1) chas = @;
int8_t TimeDisp[] = {©x00,0x00,0x00,0x00} ; disp();
int8_t BudDisp[] = {0x00,0x00,0x00,0x00}; analogWrite(buzzerPin, @);
unsigned char ClockPoint = 1;




if(flag_disp && res_std.valuestd == 551489010) // Mpubaenenne mMunyT GyaunbHuka
{
analogWrite(buzzerPin, 255);
{ Biminut_vkl++;
analogWrite(buzzerPin, 255); if(Biminut vkl > 59) Biminut vkl = ©;
minuta++; WriteEEPROM Byte(3, Biminut vkl);
if(minuta > 59) minuta = ©; disp();
disp(); analogWrite(buzzerPin, 0);

analogWrite(buzzerPin, @); s

if(res_std.valuestd == 1886397914) // Npubaenexne MuHyT

}

if(flag disp && res_std.valuestd == 551514510) // Y6aenenue mMuHyT 6GyaunbHuka

if(res_std.valuestd == 1886446874) // Y6aBneHue MuHYT - analogWrite(buzzerPin, 255);

{ Biminut_vkl--;
analogWrite(buzzerPin, 255); if(Biminut_vkl < 1 || Biminut_vkl > 60) Biminut vkl = 8;
minuta--; WriteEEPROM Byte(3, Biminut_vkl);
if(minuta < 1 || minuta > 60) minuta = @; disp();
disp(); analogWrite(buzzerPin, @);
5
analogWrite(buzzerPin, Q);

}

if(res_std.valuestd == 551505585) // Bkn/Ovkn OyaunbHuK
if(flag_disp && res_std.valuestd == 55152165@) // MNpubaeneHue 4acoe byaunbHWKA {

{ analogWrite(buzzerPin, 255);
analogWrite(buzzerPin, 255);
Bichas vkl++; Bichas_vkl = ReadEEPROM Byte(2);
if(Bichas_vkl > 23) Bichas vkl = @; Biminut_vidl. = ReadEEPROM Byte(3);
leteEEPROM_Byte(2, Bichas_vkl); 1£(81_flag)
disp(); L
analogWrite(buzzerPin, 9); B1 flag = 0;
} Die_Low;
}
if(flag_disp && res_std.valuestd == 551547150) // Yb6aeneHue yacoe OyaunabHukKa
{ else
analogWrite(buzzerPin, 255);
Bichas_vkl--;
if(Bichas vkl < 1 || Bichas_vkl > 24) Bichas vkl = 9; }
WriteEEPROM Byte(2, Bichas_vkl);
disp(); disp();
analogWrite(buzzerPin, 0);

B1 flag = 1;
D1@ High;

WriteEEPROM Byte(1, B1_flag);
analogWrite(buzzerPin, 0);
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if(res_std.valuestd == 551521905) // BuiBog OyawnbHuka Ha avcnnein

{

analogWrite(buzzerPin, 255);
flag zel led = ©;

if(flag_disp)
{
flag disp = ©;
D7_Low;
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else

flag disp = 1;
D7_High;
}

disp();
analogWrite(buzzerPin, @);

if(res_std.valuestd == 551525475) // TlogceeTka +

{

analogWrite(buzzerPin, 255);
val_shim++;

if(val_shim > 7) val_shim = 7;
WriteEEPROM Byte(4, val_shim);
tm1637.set(val_shim);

disp();

delay ms(10);
analogWrite(buzzerPin, 0);

if(res_std.valuestd == 551519355) // MoacseTka -
{

analogWrite(buzzerPin, 255);
val_shim--;
if(val_shim < 1 || val_shim > 254) val_shim = @;
WriteEEPROM Byte(4, val_shim);
tm1637.set(val_shim);
disp();
delay ms(10);
analogWrite(buzzerPin, @);

if(res_std.valuestd == 551519865) // +10 MMHYT OTCpO4Ka
{
analogWrite(buzzerPin, 255);
Biminut_vkl = Biminut_vkl + 10;

if(Biminut_vkl > 59)
{
Biminut_vkl = 10;
Bichas_vkl++;
if(Bichas_vk1>23) Bichas_vkl=0;
¥

delay ms(5);
analogWrite(buzzerPin, 0);

flag disp = 1;
D7_High;
disp();
delay ms(300);
flag disp = @;
D7_Low;

}

Serial.println(res_std.valuestd); // YpanuTe nocne nporpaMMupoBaHusA MynbTa

irrecvstd.resumestd();
res_std.valuestd = 0;

unsigned long currtime = millis();

if(currtime > timme) timelapsed = (currtime - timme);
else timelapsed = (MAXMILLIS - timme + currtime);

if(timelapsed > 999)
{

timme = currtime;
if(flag disp)

flag zel led++;
if(flag_zel led > 59)
{

flag _zel led = ©;
flag disp = ©;
D7_Low;
analoghrite(buzzerPin, 255);
delay ms(5);
analoghrite(buzzerPin, ©);

}

secunda++;
if(secunda > 59)
{
secunda=0;
minuta++;

if(minuta > 59)
{
minuta=0;
chas++;
if(chas>23) chas=0;
1
3

disp();




if(B1_flag)
{
if(chas == Bichas_vkl && minuta == Biminut_vkl)
{
buzz();
}

if(chas == Blchas_vkl && minuta == Biminut vkl && secunda == 59)
{
Biminut vkl = Biminut_vkl + 10;
if(Biminut_vkl > 59)
{
Biminut_vkl = 10;
Bichas_vkl++;
if(Bichas_vk1>23) Bichas_vkl=0;
}

}

} //END LOOP

void buzz()

{
if(B1_flag)

analogWrite(buzzerPin, 30);
delay ms(168);
analogWrite(buzzerPin, 50);
delay ms(160);

}

analoghrite(buzzerPin, 8);
delay ms(160);
it

void disp()

{

if(!flag disp)

{

}

ClockPoint = (~ClockPoint) & ©x01;

if(ClockPoint)tm1637.point (POINT_ON);
else tm1637.point(POINT_OFF);

TimeDisp[@]
TimeDisp[1]
TimeDisp[2]
TimeDisp[3]

chas / 19;
chas % 10;
minuta / 10;
minuta % 10;

tm1637.display(TimeDisp);

else

{

tm1637.point (POINT_ON);
BudDisp[®] = Bichas vkl / 16;
BudDisp[1] = Bichas vkl % 19;
BudDisp[2] = Biminut vkl / 18;
BudDisp[3] = Biminut vkl % 18;
tm1637.display(BudDisp);
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SKOHOMMYeckoe obocHoBaHue

HanmeHoBaHue CtoumocTb
ONEKTPOHHbIE KOMMOHEHTbI 500 py6newu
[MnacTtuk ona ne4yatu 100 pybnewu
NToro 600 pybnewu
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